ANSWERS - VOLUMEZ2: STRESSES, STRAINS, DISPLACEMENTS

Chapter 2, Bar Subject to Extension

problem 2.39, page 65

Remarks: See 82.2.1, pages 19 till 21
See 8§2.3, pages 24 till 26
See §2.6, pages 34 onwards

ANSWETS:

a. Ubk)ck = 0,84 mm (\L)
b. N® =N® =417,5 kN: N©@ =428 kN

c. o =60 =70 N/mm?:; c?® =112 N/mm?

Explanation:

b. A/D =Ar@ —Ar® — NO =N® =0 625x N?
NON@ NG =2 25xN® =F = N® =28kN
N® -N® =17 5kN

a. U (V) =ACD = (17,5 kN)(1500 mm)
) oc

= =0,84 mm
(125 kN/mm?)(250 mm?)

3
¢. 0 =@ AN _ 26 N2
250 mm
3
5@ = 20N 115 Nimm?
250 mm
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